14
20
KA

4@

=14

'

1.5
L 48
156
178
175
177

179

16@
197@

<
218
wad
L5

L

DEG = MODE 1 @ INK @, @ 5 INK 1, 15 5 INE 2, 18 1 INK 3
« 2%

SYMBOL AFTER 232 : SYMEROL 232, @8, @, 235, 1, 7, 31, 127
. B ¢ SYMBOL 233, 127, 199, 146, 199, 127, @, @, @

SYMRBOL 234, @, &4, 248, 248, 248, 292, 254, 0 : SYMBOL

SRS, 294, 227, 7E, 227, 254, @, @, @

SYMEBOL L4@, 18, 129, 36, 2&, 7&, 16, 129, 8 1 SYMBOL 24
1, 1268, O, &9, 32, 2, B, &B, 52 1 SYMBOL 242, &4, B, 16,
128, 9, B, 18, &4

SYMBOL 243, @0, @, 44, 8, 24 32, 4, 33 : SYMBOL 244, @,
128, 4, @A, 32, 2, 64, 9 1 SYMBOL 249, 144, 2, 16, B, &b,
&. By k7

SYMBOL 246, &4, 4, O, 144, 1, 16, 4, 64 : SYMBOL 247, &
s oh, @, 18, 8, 148, ¥, 16 @+ SYMBOL 248, 4, @, 144, 2, &

4, B, 8, 1

SyHBOL 249, @O, B, &3, &3, &35, &3, 127, @ : SYMBOL 208,
127, 200, 1X5, 0@, 127, @, @, @ : SYMROL 231, 1, /7, 1396
s 2400, 192, 248, 2854, @ ¢ SYMBOL 252, 254, 19, 228, 19,

2h4, B, B, @

SYMBOL, 255, @, B, 24, 60, &0, 24, @, @

EXFLE(L L) = """ 3 EXFLE{L,2) ® ", " + CHRE(Z24) + ", " 1

EXFL$(]L,3) = "V

EXPLE(Z2,.1) = ", " + LCHR#(241) + ", " : EXPLE(Z2,2) = CHRE(

242 + CHIRE(Y) + CHREZ244) 3 EXFLEC,EZ) = ", " + CHRE$ (243
:'+“i.”

EXPLE(I, L)Y = CHRERLZAE)FUOHRE(P)FUHRE(ZE47) 2 EXPLFE(R 2 =
nn e EXFLE(R,T) = CHRE (246) +CHRE (9 +CHRE (248H)

EXFLE(G, 1) = """ & EXFLEDE,.2) = CHRES)Y) + """ 2 EXPL$(4,
3} e Wl

EXPLE(S 1) = CHR$(9) + ", " : EXPL#FS,2) = "_ " + CHRE(Y)
+ "L o EXPLELS,E)) = CHRESG) + "M

EXFLE(SE, L) = " " + UHR$#(92Y + " " z EXFL#F(LH,Z) = """ 1 EX

FLE (&, S = EXFLE(S,1)

TAaNEs = CHRE(ZIZ2)HYCHRF(254) +CHREF(LO)+5TRINGE (2,8 +CHRE (

203 +UHRSE (2550

MSGE (1) = "Ready. to.fire"” 1 MEGE(L) = "Fress. a.Jkey.with
adLumber ondt"

MSGEE(3) = "Wailting.forsecond.odigit” = MSE#F(4) = "pName .

wolr Jshell o (@a=aP"Y 1 MEGHE(S) = "Prepare,toJIRE!'"

FisEE (&) = "FRESS (THE _SFACE Hak, . STLLY ' ¢ MSGEECH) = v

...H.F:.q..n.p.l .-..i...-.F{..-.a..-.E-.-.-dmd-! l I -5

MEGE(B) = " caFocalsnaPanaBacsasE" 2 FESEEE(F) = "ENEMY HAS
LZOVERRKUN YOURK L FOSITION, 'Y

FOR [=]1 1L
) = A4 3

!

4 ¢ TSFEEDCY) = —INT{KNDL) %) = 1 3 TANEX(]
ATS1¢1) = 1 1 NEXT

TAMEY (1) INTIRND (L) %5) + & 2 TANBY (2) = TANMKY (1) + 5
TAMNEY (.3) TAMEY (8 + 3 2 TANEY (4 = TANEY (3) + A
MROURNDS = NROUNDS + 1

FAFER @ @ BORDER @ 3 CLS

FEN 1 ¢« LOCATE 1. 180 : FRINT CHR#FO249) +CHRE (ZG1)+CHRE (1

im

i



250

268
278
280

2598
S0

318
S0
A3@
548

A5

At
He5
S0
SEA

90
400
410
420
4350

440
4350
G460
470
480

454
Sy
b b’
S1lG
Pl i

570
Louw

L AR5
164 7

"R
T

L5
1 k14

W) +B8TRINGE (2,8) +CHRE(Z2E0) +CHRE (252)

FOR I=1 TO & ¢ FOR J=12 TO 20 : LOCATE I, J : FRINT CHR

F01435) ¢ NEXT 3 NEXT

MOVE @, 78 : DRAWR &40, @

MOVE B, 226 : DRAWR 3@, @ : DRAWR 1@, -3

FEN 2 @ LOCATE 3, 22 1t PRINT "Angle : " : LOCATE 16, £4
: FRINT "Shell s

LOCATE 2%, 22 @ PRINT "SCORE ¢ "

LOCATE 35, 22 ¢ FPEN 2 1 FRINT SCORE

-

MW = 1 : GUOSUEBR S000

Dif = [NEEY# @ IF Di#% = "" THEN GOSUER B0 : GUTO 3538
IF Di& = "_." THEN FIRE = @ 2 MN = 8 @ GOSUB 5000 ¢  GOT
0 Sl

IF Di% < "@" UR Di1#f > "@" THEN MN = 2 @ GOSUR 5008 : 60O
1o 338

MM o= 3 2 GOSUER 5000

FEN 2 @ LOCATE 9, 22 1 FRINT VAL (D1$)

D2% = INKEY# : IF DZ#% = "" THEMN GOSUR Z@00 : GOTO 578
IF D&% < "@" OR D& > "9" THEN MN = 2 1 GOSUBR SQ00 1 GO
o A7d

ANGLE = 10 % Val . (D1%) + VAL (DY%)

FEN 2 ¢ LOCATE 11, 22 3 PRINT LBING "#"3; VAL (DJ#)

MM o= 4 1 GOSUEBE SO00

Di% = INKEY# : |F Di% = "" THEN GOSUBR 3008 : GOTO 420
IF D1# < "Q" OR D1# > "9" THEN MN = 2 31 GOSUB TOB@ : GO
T 420

FEN ¢ ¢ LOCATE 22, 2%
GHELL = VAL (DL1¥#) : MN
Di% = [NEEY# : IF D1#% "UOTHEN GOSUEB 5000 @+ BOTO 4560
I1IF DI& <> "." THEN MW d ¢ BOBUR 5000 = GOTO 468

MN = 7 & (GUsLE SUA8 1 FIRKE = |

FRINT VAL (D1#$) 3
w o GOEUE S004a

:

s 1, @, IV, L1, 1, 1, 15
GUSUE 1008

GOSLE SB3EA

LF BOMEBRX = @ THEN 320 ELSE 505

[F (BOMBX <: @) THEN 131W ELSE BOMEX = 5K : BHOMBY = g @
T = @ 3 LOUCATE 3, &8 ¢+ FEN 3 1 PRINT CHREC2H53) 2 CU = 32

(F FIRE = B THEN ANGILE = 4% : SQHELL = 4

ALY = SHELL % COSI(ANGLEY 7 3 = Y1V = SHELL # SIN(ANGLE)
P

FENM 1 = IF (HOMERX < 959 gD (BOMBY > @A AND BHOMBY < 235)
FHEN LOCATE BOMBX. BUMBY : FRINT CHR# (CLD

[' | '+ ';._.:"

[FF (F = 20) AND (FikE = @) [THEN ZAA8

HUHEE 2 MY (s 4 1 * X1V



105
1046Q
1865

La7a
106
1378
11aa

1118
112@

1L58

114@
L0000
2A10
LAed
2@
L2024
el
L8
2@358
LW50
LU

L@EE
L8505

@bl

29910
S0aw
S@1@
SAZ2A
S
SA49

SU5EA
Btwinlf
S5l

o Ld

et )

A990
4008

BOMBY = [NT(8 - T * Y[V + B3.@34%9 * 1 ® )

IF BOMBY < 1 THEN RETURN

[F BOFBRY * 19 THEN BOMBY = 1% @ IF BOMEX > 354 THEN HUMA
X = 34 3 GOTH 2000 ELSE GOT0 2000

IF BOFBX » 34 THEN ROMBX = 54 3 [F BOMBY « 2 OR BOFERY 2
22 THEN BUOMBZ = @ : RETURN ELSE GOSUR Z200Q : RETURN

IF TEST(HOMEBX * 16 - 8, 400 - BOMBEY # 16) = 1 THEN CL =
143 ELSE CU = 33

HIT = @ 2 FOR Tk=1 TO 4 ¢ IF EXIST(TE) = & THEN 1110 EL
B T1 = ROMBEX - TANEX(TK) & T2 = BOMEBEY = TANEY (TkE)

IF (T1 = @ OR T1 = 1) AND (T2 = @ OR T2 = 1) THEN HIT =
Th.

MEX T

IF HIT = @@ THEN LOCATE BOMEX, BOMEY : FPEN 35 : FRINT CHR
FOL453) 1 RETURN

GUTO 4000

FEN 3 ¢ FOR I=1 T0 &

LOCATE BOMBX-1, BOMBY-I

FRINT EXFLE(L, 1)

LOCATE BOMBX-~1., BOMBY

FRINT EXPL%(I .2}

LOCATE BOMEBX-1, BUMBY+1

FRINT EXFL$(I ,3)

SOUND 1, @, 15, 1%, 1, 1, 31

[F HIT <> @ THEN 2050

IF OINTCI/Z2)Y <% 174 THEN INE @, 24 3 TCOOL = 1 1 GOSUR 35

B ELSE INE @, @ ¢ TCOL = @ 1 GOBUE 33500

MEXT )

IF BOMBX < B THEN FOR I=1 T & ¢ FOR J=12 T0O 20 : FEN 1
s LOCATE I, J @ FPRINT CHR#(143) ¢ NEXT ¢ NEXT

BOMEX = W0 3 LOCATE 9, 22 ¢ PRINT ",.." ! LOCATE 22, 22
: PRINT ",." ! RETURN

IF RNDCL) > NROUNDS/Z10@ THEN RETURN

LT o= LT + 1 3 IF LT = 35 THEN LT = |

IF EXISTLT) = @ THEN 5010

TAMEX (LT) = TANEX(LT) + TSFPEEDI(LT)

[F TANEX (LT <= & THEN TCOL = 3 : GUSUEB 3500 @ GOTO U0
@

RETLRM

FOR TK=1 TO 4

IF EXISTUTE) = @ THEN 3330 ELSE LOCATE TANEX(TE) . TANEY
(Tk?) & FEN TOCOL

FRINT TANE$

MNEXT @ RETURN

IST(HLTY = @ 3 SCORE = SCORE + 850 : LOCATE 35, 22 ' F
3 FRINT SCORE

T 71 ==
k2

X
N



4AaLY

G
4.5

b 144 L)

4994
w1 ]l
HLa
a2

#9490
edralralh}

FA1a
YRALW
YA
YA

ko= ROMEX @ GOSUE 2008 @ BOMBX = K 1 GOSUR 2000 : BOMBX
= k5 GUSUE 2000

HMLT = @ ¢ HUMBX = F 31 GOSUE JO0E

I EXIBT1) = @ THEN IF EXIST(Z) = @ THEN IF EXISTCY) =
@ THEN LF EXIST(4) = @ THEN 190

P 1 LRI

LUCAIE 4, 24 1 FEN 3 ¢ PRINT SFPACES (54)
LOCATE 4, 24 @ FRINT MSGE (MN)
KE TLIRN

M Y ¢ GOSUER S00@0 : FOR I=1 TO 1000 STEF 1@ : SOUND i
y La By 15 1 MEXTY

FUR I=1 T0 &Z& &t FRIN? ¢ NEXT

FRINT " rananfRESS A KEY FUR ANUOTHER TRY"

[F INEEY®$< """ THEN 903@

LE INEEY®E=2"" THEN Y@48 ELBE RUN

it



ChexSum Tables

L =

20 =

3@ =

G ==

Ly =

Al =

70 =

Bl =

IR =
100 =
11@ =
128 =
13@ =
140 =
1580 =
1/70) ==
17% =
177 =
179 =
B8 =
90 =
L0080 =
218 =
2210 =
230 =
240 =
200 =
Lol =
L7 =
A =
L9 =
AU =
A1) e=
Salld =
S5 =
A4 =
Skl =
Sél@ =
AhE =

1530
AHHA
4 A998
4164
ShEn
LYW,
F174
1193
29477
174
&7ID
X370
49935
425
Sl
s P
F761
448
S|
Pl
H19a
922
Lt 0 |
1886
4
5547
w7 &
163
L RAEX
70
176
13X3
(]
LT
2H71
2170
Bl
oY
1584

270
A80
AQA
4
41
2D
458
4.4
450
464
474
48
49
SO0
b1 b
ol@
el
FeA
1006
1 Q@%
10@ 7
1LA1LA
1A28
134
LB4d
1050
1A40
L&D
17Q
1 G
L A%
I 1D@
1118
112
1130
114@
SABG

LSELW

B @0 OhoE U

B0 HHE R T H d R B & BB 8 R @

B H

8 & h

2615
3294
2491
1865
QED

2bb]
3340
155
2501
27101
2442
1623

&7
4%b
416
1821

AT
£ 7 b
SAneE
HD52
Qo

L4 10
Ly
A9 70
14&7
Hai8
6598
11 1) e
HEBSS
4821
17&

hb&TS
B

1215
1 51
1@l

e@22
2024
LR2E
2028
=50
PO
~@48
LO5@
2055
L&
2990
A Th 1y
SA1a
@23
SDED
S48
SANA
Souag
A510
Sodd
A Y
2994
400
410G
G420
4A35A
44
4590
SO0
=H@1E
D20
B8990
ea 11"
01
YLD
Y@.50
A4

PO AL

A A

BB E BRI R X

OB

i

BE R &8 B AR

#

ook Koo R L A HBH AL

it

1540
182
1799
1023
L5
1158
w4
208
= ¥ A
2372
@
2417
2707
170@
3285
3076
201
1067
48330
656
578
A
4177
L
£@.3535
5742
201
0
1198
1278
<81
a
el
1574
2393
1259
1652

1" B - B



